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QUESTION 1

An administrator sets up a network scan set in AirWave to scan a subnet to identify devices for a firmware upgrade. The
scan completes and AirWave successfully uses the SNMP credentials to validate SNMP access. However, SSH access
fails and the administrator must manually configure the SSH credentials used for all of these devices. 

What should the administrator have done before running the network scan? 

A. Define a scan credentials set for the devices. 

B. Monitor the devices for needed firmware upgrades. 

C. Change the default credentials of the devices. 

D. Manually upgrade the firmware of the devices. 

Correct Answer: C 

 

 

QUESTION 2

A company opens a new branch office and a RAP is used to connect to a corporate office Aruba Mobility 

Controller (MC). The company needs to provide connectivity to the office across the street. There is an AP 

across the street. However, there is no wired connectivity between the buildings. 

Which actions can the administrator select to provide the required connectivity? (Choose two.) 

A. Provision all Aps at the branch office as Mesh Points. 

B. Provision all Aps at the branch offices as Mash Portals. 

C. Implement one of the Aps as a Mesh Point. 

D. Provision the RAP as a Mesh Portal. 

E. Implement two mesh clusters. 

Correct Answer: AD 

 

 

QUESTION 3

Refer to the exhibit. An administrator implements an L2 cluster of Aruba Mobility Controllers (MCs) as shown in the
exhibit. An external RADUIS AAA server authenticates clients associated with the Active User Anchor Controller (A-
UAC), where the NAS IP address sent from Controller B is 10.254.1.2. 
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By default, what happens to the user\\'s session when it is handed over to the Standby UAC (S-UAC) after a failover? 

A. The user\\'s session remains active and RADIUS messages can still be processed between the S-UAC and AAA
server. 

B. The user\\'s session remains active, but the AAA server cannot implement RADIUS Change of Authorization (CoA). 

C. The user\\'s session is disconnected and has to reconnect, and no record of this process is stored on the AAA
server. 

D. The user\\'s session is disconnected and has to reconnect, but the S-UAC automatically updates the NAS-IP address
on the AAA server to record the event. 

Correct Answer: B 

Explanation: "The Authorization module authenticates clients on the A-UAC and sets the A-UAC IP address as the NAS-
IP. External RADIUS servers set the NAS-IP as the A-UAC IP in the client database (Figure 6-17). This NAS-IP is used
later to change client states or attributes.However, when the client moves to a new UAC, the authentication server is not
updated. This means that transactions initiated by the authorization server will fail. To resolve this issue, you should
configure each cluster member to use the Virtual Router Redundancy Protocol (VRRP), as described below. This
enables interaction between the cluster and the authorization server. " 

 

QUESTION 4
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Which forwarding mode is used for a WLAN if a RAP needs to decrypt all user traffic and forward it locally? 

A. Split-tunnel 

B. Bridge 

C. Tunnel 

D. Decrypt-tunnel 

Correct Answer: B 

 

 

QUESTION 5

An administrator configures two Mobility Masters (MMs) for redundancy and database synchronization. Which protocol
transports database information between the two MMs? 

A. AMON 

B. SNMP 

C. IPSec 

D. VRRP 

Correct Answer: C 

 

HPE6-A71 Practice Test HPE6-A71 Exam Questions HPE6-A71 Braindumps

Powered by TCPDF (www.tcpdf.org)

HPE6-A71 Practice Test | HPE6-A71 Exam Questions | HPE6-A71 Braindumps                                4 / 4

https://www.passapply.com/hpe6-a71.html
https://www.passapply.com/hpe6-a71.html
https://www.passapply.com/hpe6-a71.html
http://www.tcpdf.org
https://www.passapply.com/hpe6-a71.html
https://www.passapply.com/hpe6-a71.html
https://www.passapply.com/hpe6-a71.html

